DAILY BASIS ASSIGNMENT

Date:22.05.2020 Class: VI Day: Friday

Subject : English

Complete the following sentences with the most suitable phrasal verb from given options:

1. We may have to the match if it rains.
a) take back
b) put away
c) call off
d) set off
2. Ifwe of petrol in this isolated road, we’ll be in trouble.
a) lockin
b) run out
c) roll out
d) stayout
3. Teaching is not easy. Sometimes teachers have to aggressive children.
a) handleto
b) deal with
c) copeon
d) work out
4. There is no more sugar. Never mind we can it.
a) dispense of
b) make up
c) take off
d) do without
5. Do you know how to a dictionary?
a) find out
b) look up
¢) workon
d) deal with

SUBJECT: MATHEMATICS

1.Which of the following statements is false?

200 is the predecessor of 201

1 is the smallest whole number
500 is the successor of 499
1is the smallest natural number.

Dow»



2. What is the correct sign for this?

898

oo w>»
A

w

989

Which of the following will not represent zero?

A 1-0
B. 0x0
C. o/11
D. (110-110)/2

4. If x is a whole number such that x+8= 10, then x="?

A.

B.
C.
D

2

3
1
0

5. The smallest natural number is

A.

B.
C.
D

1

0
2
4

SUBJECT: PHYSICS

Multiple choice questions (Select correct one):

1.

2.

Which one is not curvilinear motion-

(a) Motion of a car on straight road

(b) Motion of a car at turning

(c) Motion of a train at turning

(d) Motion of aeroplane while taking off the runway.
A ball thrown horizontally in air is example of-

(a) Rectilinear motion

(b) Circular motion

(c) Curvilinear motion



(d) Random motion.
3. Motion of a kite is-
(a) Random motion
(b) Periodic motion
(c) Rectilinear motion
(d) Circular motion.
4. Time is one of the factor of-
(@) Circular motion
(b) Curvilinear motion
(c) Rotational motion
(d) Periodic motion.
5. Which one is not non-standard unit of distance-
(a) Foot step
(b) Forearm
(c) Hand span
(d) Metre.

SUBJECT: CHEMISTRY

Multiple Choice Question (MCQ)

1. Which one of the following has not round shape?
(@) Apple

(b) Cricket ball

(c) Orange

(d) Sugar

2. Which one of the following is floats on the surface of kerosene?
(a) Brick
(b) Paper
(c) stone
(d) Iron

3. Which one of the following is eatable substance?
(&) Sugar
(b) Paper
(c) stone
(d) Note book



4. Which one of the following is readable substance?
(a) Plastic
(b) Wood
(c) Book
(d) Pen

5. Which one of the following is writable substance?
(@) stone
(b) Plastic
(c) stick
(d) Pencil

SUBIJECT: BIOLOGY

Multiple choice questions :

1. Which of the following minerals is needed for the proper functioning of thyroid gland? a) Iron
b) lodine
C) Calcium
d) Phosphorus

2. Repeated washings of rice may result in lost of
a) Vitamins
b) Minerals
C) Both vitamins and minerals
d) Neither of vitamins nor of minerals

3. A person takes more food than his requirement. He is too fat. He may be suffering from which one
of the following diseases?
a) Anaemia
b) Beri-beri
C) Scurvy
d) Obesity

4, Deficiency of vitamin A causes
a) Beri-beri
b) Night blindness
C) Scurvy
d) Rickets

5. We must not use excess water during cooking as it may



a) Result in loss of carbohydrates

b) Result in loss of minerals and proteins
C) Resultin loss of fats

d) Both (b) and (c)

SUBJECT—SST
Multiple Choice Questions{Select the correct one}:-
1.The first Dalit president of India is

(a)RamNath Kovind  (b)K.R Narayanan (c)Dr.Rajendra Prasad (d)Pratibha Patil

2.Prejudice means---------- about an individual or a group.

(a)negative opinion (b)positive opinion  (c)good opinion (d)other opinion

3.The National Policy for Empowerment of women was passed in

(a)2000 (b)2001 (c)2002 (d)2004

4.The Jarawa tribes belong to

(a)Lakshadweep island  (b)Majuliisland (c)Elephantaisland (d)Andaman island

5.The languages spoken in Northern India have evolved from the

(a)Indo-Dravidian Family (b)Tibeto-Burman Family (c)indo-Aryan Family (d)Indo-lranian Family

SUBJECT: COMPUTER REVISION (CH-1& CH-2)

Multiple choice questions (select the correct one):-

1. FORTRAN, ALGOL, COBOL are examples of which language?
a) Assembly Language
b) High Level Language
¢) 4"-generation Language
d) None of these

2. Disk defragmenter option is available in



a) System Tools
b) Windows Media Player
c) Disk Cleanup
d) None of these

3. Machine Language is the example of Generation of Programming
Language.
a) 1st
b) 3rd
¢) 5th
d) None of these

4. Which of the following allows you to search files, folders and any other
information?
a) MS Word
b) Search Tool
¢) Windows Media Player
d) None of these

5. HAL stands for
a) Human Anatomy Language
b) Human Access Language
¢) Human Access Length
d) None of these
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